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z1 = 3 + 4i z2 = −2 + i z3 = 7 − i.¢�¤s¥"�1�)¦)�=���f��� 3 ���K§¨��¢��ª©¬«�����­®�¯¢��
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z1, z2, z3
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z1 + z3 ´ z1 − z2 ´ z1z2 ´ z1

z2

«����
|z1|
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a + bi
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z1, z2, z3
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n ∈ N
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n
∑

k=1

k2 =
n(n + 1)(2n + 1)

6
.
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x ∈ R ´ ���K��¢��º�È�����=���������ÃÉÊ���
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(1)

x − 4

x2 − 9
≤ 0, x 6= ±3, (2)

3x − 1

(x − 4)2
=

1

2
, x 6= 4.
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s =

100
∑

k=1

k6 +

101
∑

m=2

[75 − (m − 1)6].
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z1 = 1 + i, z2 = −1 + 2i.Æ ¢�¤s¥"��±��1³�£������ 3 ���
z1 + z2, z1z2,

z2
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z1

z2
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a + bi
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z1
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1 −
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n + 1
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(1) |x − 5| + x ≤ 7, (2) x3 − 4x ≤ (x − 2)(x + 4)2.
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2n
∑
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k + 2
+
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∑
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m − 2
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